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12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry two marks. All questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(@ii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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POLITICAL SCIENCE

Paper II

TSHIMEH
goatent 11

Time Allowed : 75 Minutes]
Note : This paper contains Fifty (50) multiple choice questions. Each question

[Maximum Marks : 100

carries Two (2) marks. Attempt All questions.

wd Yy dred.

AT ¢ A1 YA THY U= (50) SgYAtd U9 STed. e UIAEl | (2) T ST

Which thinker opposed the claim to

Papal supremacy ?
(A) Giles of Rome
(B) John of Salisbury
(C) Thomas Aquinas

(D) Marsiglio of Padua

Which behaviourist tenet was
completely rejected by the advocates

of post-behaviourism ?

(A) Interdisciplinary approach
(B) Theory-building

(C) Value-neutrality

(D) Empirical research

HUTT faaraan My=ar g9 e ™

forlier hetl ?

(A) Sied 3w I

(B) SIF AT Hferesdt
(C) UMY A& H

(D) wifdferar sife argsn

STEIAAIGT=A JLER eI S-aeTe ShIvd

T QUi AehRel ?

(A) STRfTERTSE g
(B) Teagra-ffdt

(C) TeadeEerd

(D) STIHTTE HNEA
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What is the central theme of
Kautilya’s ‘Arthashastra’ ?

(A) Finance
(B) Ethics
(C) Statescraft

(D) Diplomacy

Which_of the following pairs is
correctly matched ?

(A) John — Libertarianism
Rawls

(B) Robert — Communitarianism
Nozick

(C) Charles — Justice as Fairness
Taylor

(D) Michael — Complex equality
Walzer

Which of the following statements

are correct ?
(a) Savarkar advocated Hindutva
(b) Savarkar was a nationalist

(¢) Savarkar endorsed

utilitarianism
(d) Savarkar supported theocracy
Codes :
(A) (a), (b) and (c)
(B) (a), (b) and (d)
(C) (e), (b) and (d)
(D) (a), (c) and (d)
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(B) (@), (b) U (d)
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D) (a), (c) 3 (d)




Select the correct answer by using

the codes given below :

(1) Antonio — The role of

Gramsci intellectuals in
society
(2) Mao — To rapidly trans-
Zedong form the country
from an agrarian
economy into a
socialist society.
3) V.L — Imperialism is not

Lenin highest stage of

capitalism
Codes :
(A) (1) and (3) are correct
(B) (2) and (3) are correct
(C) (1) and (2) are incorrect

(D) (1) and (2) are correct
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Which one of the following pairs is

incorrectly matched ?

(A) Hegel — Phenomenology
of Spirit
(B) Jeremy — A Fragment on
Bentham Government

(C) T.H. Green— Philosphy of
Rights
(D) J.S. Mill — Consideration

on Repre-
sentative

Government

What are the sources of Karl Marx’s

theory ?
(A) German Philosophy, British

Political Economy and French

Socialism

(B) German Socialism, British
Philosophy and French Political

Economy

(C) German Political Economy,
British Socialism and French
Philosophy

(D) German Socialism and French

Political Economy
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(A) T — AT S
fefte

(B) SREI 99 — 31 HH= A
TegHe
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o= fees T
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(C) STHT Ustehig Aefamror, fafest
THNEE A0 B axe

(D) SHT HHSERE ST e USehid
7RI




10.

Which one of the following pairs is

incorrectly matched ?

(A) Jeremy —Utilitarianism
Bentham
(B) John Locke —Hedonism

(C) Jean Jacques—Social

Rousseau Contract

(D) Antonio- —Hegemony

Gramsci

What is the central theme of Plato’s

Republic ?

(A) Justice

(B) Scheme of education

(C) Idea of communism

(D) Philosopher king

10.
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(C) ST S &G — TS hik
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11. Given below are two statements, one | 11 et 99 faum et oma. & faum

labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : Any Individual
affected due to
violation of any of
the  Directive
Principles of State
Policy cannot

move the court.

Reason (R) : The Directive
Principles are not

justifiable.

In the context of the above two
statements which one of the

following is correct.
Codes :

(A) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)
(B) (A) is true but (R) is false
(C) (A) is false but (R) is true

(D) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(A) W W A% &R (R) :

fagm (A) : Trieeled qeErEr THS

SR TETE AfRie e

ATAT 9T | sl

YT dTd SIS Mehd

el
U7 (R) : HFCI® dc =Aaqiase

HdTd.

e g faumren Seuia @l fooe
AR a9 I WL

‘Fl@?lﬁﬁ $
(A) (A) a (R) T8l SR 3T=d 997 (R)
T (A) 9 I TR TR

(B) (A) ® =R 3§ 99 (R) § I
Sl

(C) (A) B I &R 9 (R) & IR
I

(a N

(D) (A) T (R) T= ST 3T’d 97 (R)

T (A) T TgH TR AR
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12. Given below are two statements, one

labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) :There has been a
growing demand
for review of
centre-state

relationship.

Reason (R) : The states have
no adequate
resources to take
up development

projects.

In the context of the above two
statements, which one of the

following is correct.

Codes :

(A) (A) is true but (R) is false
(B) (A) is false but (R) is true

(C) Both (A) and (R) are
individually true and (R) is the

correct explanation of (A)

(D) Both (A) and (R) are
individually true but (R) is not

the correct explanation of (A)

faam (A) W TR FRT (R) § MW :

faam (A) : F3-T FeEmEn FHiaar
Sl Sal STIft HETuR
qred R.

HRUT (R) : fasmm@= 9o U€-

formar st sesh UeAeRe
quft e R
T S o weuld @rcierisht
I I HABE
Hehdiah :
(A) (A) T UK 3¢ 997 (R) § 9%
e

(B) (A) T I& 3 T (R) § RN
3T

(C) (A) g (R) T2l sIsR 2A_d 3Tfor

(R) T (A) 3 T TRH TR

~

(D) (A) T (R) Tt ssR 3TRd 97T (R)

T (A) T TEH TIEHRI AR
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13.

14.

What is the nature of peasant
movement in India ?

(A) Anti-Governmental
cultural policy

(B) Anti-Government
(C) Anti-Public Policy
(D) Anti-NGO

Match List I (Leaders) with List II
(Movements) and select the correct
answer from the codes given
below :

agri-

List I
(Leaders)
(@) E.V. Ramaswamy
®)
(c)

d)

Charu Mazumdar

S.A. Dange

Godavari Parulekar

List II

(Movements)

Armed Revolution

Working Class

Self-Respect Movement

(1)
(2)
(3)
(4)
Codes :
(@)
A) 4)
(B) 2)
C) )
D) (1)

Tribal Movement

®)
o))
3)
1)
3)

(c)
2)
1)
2)
(4)

(d)
3)
(4)
4)
2)

13.

14.
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(B) (2)
€ 3)
D) (1)

(@)

(1)
(2)

®)
1)
3)
(1)
3)

()
2)
(1)
2)
(4)

)
3)
(4)
(4)
(2)
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15.

16.

Which one of the following Article
of the Constitution authorizes the
President of India to suspend the
Fundamental Rights ?

(A) Article 359
(B) Article 365
(C) Article 372
(D) Article 370

One of the following statements
related to Government of India Act,

1919 is incorrect ?

(A) The subjects of administration

were divided into two

categories—central and

provincial

(B)

The Indian legislative was

made more representatives

(C) The Courts had the authority
to decide whether a particular

subject was central or provincial

(D) There was no provision for
collective responsibility of the
ministers to the provincial

legislative

15.

16.
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AN n LN =
WlAdlctlenl onlVicdl ScdicHen enddHI< Y

YRATeAT TS A B
HLA Idd ?

(A) hetH 359
(B) cH 365

(C) hetH 372

(D) sctH 370

1919 =T HIISATAT TSI BIeierdeh!
T faum g% og, d faum sfesen .

(A) WA fasa ss enfor gifae
3 fawmee 8

(B) YR FAHSS © 3ifaes wifd-
faefir el T

(C) TEmEN fooa Shgran e hi Hidr=
g Sfavamn StfusR =T
Bl

(D) Yifdeh Udier AFHER HEcHS

qrafeshgtedl Jareg g dvd

g Tead

11
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17.

18.

In which of the following House/
Houses are the seats not reserved

for SC/ST ?

(1) The Lok Sabha

(2) The Rajya Sabha

(3) The Vidhan Parishad

Select the correct answer from the

codes given below :
Codes :

(A) Only (2)

(B) Only (3)

(C) (2) and (3)

(D) (1) and (3)

Who is the first CEO of NITI

Aayog ?

(A) Arvind Pangariya

(B) Thawar Chand Gehlot
(C) V.K. Saraswat

(D) Sindhushree Khullar

17.

18.
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o NN ¥ (@
Greflelyehl <h[UTcAT HHYTIRId ST

STl & STHTATETS ShivTeTsl Jeid ST

R ?
(1) <ArehasT
(2) TG

(3) faum uftsg

TTelld HZdl IR HEed dd 3
qhen

e

(A) e (2)

(B) % (3)

(C) (2) T (3)

D) (1) = 3)

Il SR afee & R SRR
S0 ATRA 2

(A) o g
(B) 9% =i e

(C) T, w=d

(D) Tagsh Feer
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19. Which of these did the 74th

Amendment to the Constitution of
India, try to inject into the working

of urban and local bodies ?

(1) Bringing about uniformity in

the structure of local
governments throughout the

country

(2) Ensuring regular and rational

flow of funds from the state’s

revenue
(3) Having property elected
governments at regular

intervals

(4) Having single unified authority
for the city’s management and

development
Which of the following is/are correct ?
Codes :
(A) (1) and (2)
(B) (1), (2) and (4)
(C) (2), (3) and (4)

(D) (1), (2) and (3)
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19. 741 HAIGEigR W& o UHOT Wi

Tfeh ST TR iU gRada
srufygd Bid ?

(1) YUl YR TR TR LA
ThMEE = o &

o o0

(2) Tsgre fasidiqa fafaaoo =
forerentanr =1 weerr et SucTey
HL0

(3) BUfaeh SIauA o= Fasuehi=n
WA TR TTq1 hLul

(4) TR HAEATIATES 9 foreshradme

Thd THIA AfE o &

e E=r arR FwEd 7 3w
NICIS

&

(A) (1) i (2)

(B) (1), (2) =7fo1 (4)

(C) (2), (3) fur (4)

(D) (1), (2) =T (3)
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20.

21.

The Supreme Court of India declares
by issuing a writ that the
respondent was not entitled to an
office he was holding or a privilege
he was exercising. Which writ is
that ?

(A) Habeas Corpus
(B) Prohibition
(C) Quo-Warranto
(D) Certiorari

Match List I with List IT and select
the correct answer by using the codes
given below the list :
List I

(a) Philosophical Approach
b)
(c)
(d)

Legal Approach
Historical Approach
Institutional and Structural
Approach

List II

(1) Study legally prescribed

structure

Find out and enunciate the
principles or ideals underlying
administrative activities

(2)

3)

Organise and interpret the
information in a chronological
order

(4)

Describe the organisation and
functions of public organisations

Codes :
(a)
A) )
B) 3)
C) ()
D) 2)

(b)
2)
(D
(2)
@)

(c)
(1)
(2)
3)
3)

(d)
4)
4)
4)
4)

20.

21.
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e SAfed @ S UEER AR T U
SYNRTIEE @h AR, Taed deg @
FIUE faRTfEeaR U TaEE A
el 1Y Tai=d AT IV TRIMER

el & ITehd.

(A) S geafeehT

(B) wfaey

(C) ARR=1

(D) I

el fodedn dehd-geETea 9gram

w Ia e‘IIC{\I II e‘IID"{I SIS Al ¢
I |

BicRIEIRCARACAE]

fafussl gftes™

(@)
b)
()
(d) FEIH® d GlEAHE greedH

(D
(2) TRIHhTT Hisha® STERYA A
see=n Y 9 fuRo

Hfecel ShIcTIehH el A fo=r
srorne e

eIk FEAT T J e T

Exull
et

(@ ()
A 3 @)
B) 3 @
© @O @
D) 2) @)

3)

4)

(c)
(1)
(2)
(3)
3)

()
4)
(4)
4)
4)
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22.

23.

The
organisation

of
four

Structural Theory
manifests
features. Which one of the following

is incorrect ?
(A) Impersonality
(B) Flexibility
(C) Hierarchy
(D) Efficiency

Consider the following statement
about classical theory of organisation
and choose the correct code :

(z) It treats organisation as a
closed system

(z1) It views the organisation as a
machine model

(Ziz) Humanistic attitude towards
the employee
18

(tv) Formal relationship

important
Codes :

(A) (@) and (iz) are correct, (i17) and

(tv) are incorrect

(B) (i) and (i17) are correct, (1) and

(tv) are incorrect

©)

(1), (1) and (iv) are correct, (ii1)
incorrect

(D) (i), (ii), (iii) and (iv) are

correct

22.

23.
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HeEA= qLEAEE fagand =R
SIS e BIATd. ATd HIMET HHEST
B A ?

(A) =Aferaeaeran
(B) waf=ehqun
(C) TEHMIM

(D) &

Hehaygaldl AR e FeeT=A1 ST

Tagiarfersri=h I faum <gien

(i) < GEST Ueh SIfg Al 378 3™
R IE ]

() @ TS T IF ™ WEY
Hiedr

Gii) Vo guifasEi=ar ArFaqrare

gftean
(iv) STU=Rer FoU™ Hew™
Heha-geil :
(A) (i) 9 (i) SRR A, (i) 9 (iv) I
3R

(B) (7) 37 (447) SR 3A1R4, (i7) T (iv)
I IR

(C) @), (i) T (fv) TSR 3=, (i4i) b

Sl
D) @), (1), (i) T (jv) & 3Ted
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24. Select the correct problem of

recruitment from the following

codes :

() Location of the recruitment

authority

(iz) Recruitment from within Vs

recruitment from without

(z11) Qualification

(zv) Language

Codes :

(A) (2) and (iz) are incorrect, (i11) and

(tv) are correct

(B)

(1), (1) and (z11) are correct, (iv)

1s incorrect

©)

(iz) and (zi1) are correct, () and

(zv) 1s incorrect

(D) (i), (ii), (iii) and (iv) are

incorrect

MAY - 15216/II—A

24. Tel foeiea Heha Yo e dar-

Wl faszes arg wwe Hae

() Yot fasges wifber= e

(i) SAaTa faweg afeta Jamerdt

(¢22) TTACT

(tv) «Te

T

(A) ()9 (1) Ih 3T, (i4i) T ({v) SR
3Ted

(B) (@), (i) 9 (iii) IS 3, (iv) T

Sl

(C) (i) & (ii7) IR 3T, (i) I (fv) TH
3Ted

D) @), Gi), (i) & (v) I A

16



25.

26.

Who said, “Bureaucracy poses a
threat to democracy and to

individual freedom” ?
(A) Max Weber

(B) Martin Albrow
(C) Talcott Parsons
(D) Paul H. Appleby

According to Barnard C.LL what are
the qualities of leadership ?

(z) Vitality and Endurance

(i1) Decisiveness
(i11) Persuasiveness

(tv) Responsibility and Intellectual
Capacity

Codes :
(A)

(1), (1) and (zi1) are correct, (iv)

1s incorrect

(B)

(i), (1), (iiz) and (iv) are

incorrect

©)

(1) is correct, (i1), (i1i) and (fv) are

incorrect

(D)

(1), (z1), (z11) and (iv) are

correct

25.

26.
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TR CRRIIT TIheMEl o AR
M R HYer.

(A) HeHH 9

(B) W oS

(C) Tl IrEH

(D) d9fd T=. 3Tqcsl

TS LTS, ITAT Hd AJeol i ?

[a

St 9 e

@)

(i) TAoeeRar

(iii) 3A™ A dBfaugrEl e

(jv) SETERR o d=Ten Il

FA-T

(A) (@), (1) T (i1i) SV 3R, (iv) T

Sl
B) @), @), (i) 9 (v) Ih A

(C) (i) SRR 3T, (1), (iii) I (iv) TH
e

D) @), (1), (i) T (jv) S 3Ted
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27. Select the correct statement about

public choice theory by using the

codes given below :

(z) Public Choice Theory is critical

of hierarchy and large

bureaucratic organisation.

(i1) It calls for small organisation

with overlapping jurisdiction.

(zi1) It claims to uphold democratic

administration.

(tv) It behaves in privatisation.
Codes :

(A) (@), (1) are correct, (ii1), (iv) are

incorrect

(B) @), (1), (ii1), (iv) are correct

©)

(1) is correct, (i1), (i1z) and (fv) are

incorrect

(D)

(1), (i1), (ii1) are incorrect, (iv) is

correct

MAY - 15216/II—A

(AW SN AN (aV [ o o
27. el Tgeied SEANSEINSISSIERIEEREES

Tagiarfesr=i=t I faum ferer

() & Tagid e 9 faeme Al

gereAifaset gHtacH®  fHent
ESIEALGIA

(i) ST=N=reATdt STrehREy  STHm=aT

STCUYHYT HeAT= A JLEhR il

(ii) @1 ATHIMET TIMEATAT  TATHIT

Hl.

(jv) T WO qifea 3R,

Heha-geit

(A) (@), (i) SRS SR, (i), (iv) I
e

B) (), (1), (i), (iv) SR 3TRq

(C) (i) SRR W, (i1), (iii) I (iv) TH
e

D) @), (), (iii) I 3ed, (jv) TR
<15
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28.

29.

Who defined training as the process
skills, habits,
attitude in

of developing
knowledge and
employees for the purpose of
increasing the effectiveness of
employee in the present government
position as well as preparing
employee for future government

position ?

(A) Felin A. Nigro
(B) William G. Torpy
(C) Milton M. Mandel
(D) Bernard Baruch

Select the correct attributes of good
governance by using the codes
given below :

(z) Transparency
(z1) Accountability
(zi1) Efficiency

(v) Autonomy
Codes :

(A) (@), (zz) and (ziz) are correct and

(zv) is incorrect

(B)

(2) and (i7) are incorrect and (7i7)
and (iv) are correct

(C) (i), (ii), (iii) and (iv) are

correct

(D)

(1) is correct and (iz), (i11), (tv) are
incorrect

28.

29.

MAY - 15216/I1—A
FIPTRIOM= Wil SRS 10 Shedl 2

“wHETIET SIS, Wadl, I 9

gfesd o= ST 9 fow™ &

[T MR TeTe STHAH HHATATH

RO Rehdl dTefauarel  JfasIanTel

IMEHRT FHIR gt gfswar.
(A) ®fed @
(B) foogm <. =ifd

(C) faeed wq. #rea

(D) sFl€ =%g

T Hehd a1 AR HEA R
RERECH I ECEIR

(i) ORGEIeRAl

(i) STAEERI

(ii) TEeHam

(iv) T

Heha-gel :

(A) (i), (ii) 3T (ii) T SR 3T 37T
(iv) & I AR

(B) (i) 371 (i) I 3T_d ST (i)
3 (jv) T SR 3

(C) @), (i), (i) 3V (jv) T TSR
TRd

(D) (i) 7 SRR 3T 3 (77), (i47), (iv)
® IR ARd
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30. Select the correct code about the

30. Tha-g ATET HEd F&AT ST

Jurisdiction of the Central Vigilance

Commission.

(z) All employees of the Central

Government

(i1) Employees in the Public

Undertaking

(zit) Corporate bodies and other

organisation within the
executive power of Central

Government
(tv) Delhi Municipal Corporation
Codes :

(A)

(1), (1) and (i1z) are correct and

(zv) is incorrect

(B)

(i), (1), (iiz) and (iv) are

correct

(C) (@) and (i) are correct and (ii7)

and (iv) are incorrect

(D) (1) and (iii) are and incorrect,

(z) and (iv) are correct

FrEG TR Iy fauam fHeer

() heIMEAE Hd HHAN

(ii) WS fme wHEr

(i) HEIMEATEAT  rfermR eI ITaTd

TR0l & a8 Teel

(lv) ool meMRaTfere

Heha-geil :

(A) (), (1) T (i4i) ST AT AT (7v)
6 R

B) (@), (id), (iii) T (iv) S 3

(C) (1) T (i) TR 2MRa M (iii) @

(iv) ek 3ARd

(D) (i) T (iii) Ieh 3R 3 (1) & (fv)

ST 3AT_d
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31. When was the Administrative | 31. STEETH UwRH! e EwrEt st
Reforms Commission, first time TR GOmd: I O OO
suggested the adoption of the

HiHdH et ?
Ombudsman type of institution in
India ? (A) 1966
(A) 1966

(B) 1961
(B) 1961

(C) 1956
(C) 1956

(D) 1977
(D) 1977

32. WICAcush! ST TEA AR IR

32. Select from the following the
incorrect line agency in the USRI EICREERTE
Government of India.

(A) AR
(A) Health

(B) fererm
(B) Education

(C) T3Uracul
(C) Transport
(D) Cabinet Secretariate (D) AAHES |
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33. Match List I with List IT and select

the correct answer from the codes

given below :

(@)
d)
(c)

d)

(1)
(2)
3)

(4)

List I
UK
USA
China
India

List II
Fundamental Duties
Evolved Constitution
Fundamental Rights

Rigid Constitution

Codes :

@ b)) (@ (@

@a 3 1 @ @

B) @ 3 @ @

© 2 @ O 3

O @ @2 & @

MAY - 15216/II—A

33. Wl IR= oM ed gt 1 9 Iel

I Al weehi=al Siedl Seeal ST
foeiean Gehdienayd g T feren :

RICU |

(@ g
(b) 4.TH.T
(c)
(d) 9Rd
et 11
(1) Hoyd el

(2) SThIA TsI&A
(3) ¥oo¥d TFh
(4) dSX TSFESAT
Hehdich :

(@ B) @ ()
Aa 3 @1 @ @
B @ @ @) @
© 2 @ @®O 3

O @ @ & @
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34. Which of the following statements

is incorrect ?

(A)

(B)

(C)

(D)

David Easton put forth his
approach to the comparative
politics in his book ‘Political

System’

According to David Easton
demands are converted into

support

According to David Easton a
political system faces demand

stress and support stress

David Easton defined political
system in terms of ‘Authoritative

allocation of values’

MAY - 15216/II—A

34, WATAYH! AT faum sleswEn :

(A)

(B)

(C)

(D)

eAle ¥ AN qAAHSE

TSTRTIUTT=AT SASITHTT §SeTehi

‘vifereierat faeew’ o1 qeaeRta wisen

Sl T I | HITUA oA

FTUAOT el ST

n (o

IS 3

T AT Ha TSTh [T ST

HATUIT S1e o UTfSsAT= Sald ]

dre <d T9d

n (o

S 3

WA A TS e
e AfueRRgeEd Heard o’

T KA el 6.
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35.

36.

Which among the following pair is

not correctly matches ?

(A) UK. — Conservative &
Labour Party
(B) USA — Liberal &
Democratic Party
(C) France — Socialist &

Communist Party

(D) Switzerland — Radical and
Social Democratic
Party

In which state of Canada separatist

movement is prevalent ?
(A) Ontario
(B) Quebec
(C) Alberta

(D) Nova Scotia

35.

36.

MAY - 15216/II—A

N A

EcATeTUeh! iUl Sel 3R 378 2

heeRed d el

(A) gTEEE —

IEXEL] REN|

(B) 3™ — fooia o SHlhals

(C) By

Hrifae @ S

q&l

(D) focrie — fewra 9 I

SHIhah T

HASTAT IV TN FHeRdTaTe] Hedes

e R ?
(A) =R
(B) s

(C) e

(D) em RIS
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37. Match List I with List IT and select

the correct answer from the codes

given below :

(@)
b)
(c)

d)

(1)
(2)
(3)

(4)

List I
Narmada Bachao Andolan
Indian Chamber of Commerce
Rasta Roko
Bureaucracy

List II
Institutional group
Associational group
Anomic group

Promotional group

Codes :

@ b)) © @

@A 3 1 @ @

B) @ 3 @ @

© 2 @ @O 3

D @ @ @ @

MAY - 15216/II—A

37. @relt fededn geien amR wed Ikt |
ST AT 11 =2 A e Sfesd vy
feeTea Heahareayd arg g feer ¢

RICUN |
(@) THI el SR
(b) sfezm <R i Hiad

(c) &l Ushl
(d) TR

et 11
(1) IEIHE e
(2) FEAHE e
(3) HAfd=R e
(4) Hag® T
Hehdich :

(@ b)) @ (@
Aa 3 @O @ @
B) @ @) @) @
© 2 @ @O 3

D @ @2 @ @
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38.

39.

Which one of the following

statements is incorrect ?

(A) In USA every federating unit
gets equal representation in the

Senate

(B) In Switzerland judicial review

is totally absent

(C) In Canada in the province of

Quebec the problem of

separatism prevails

(D) In India the residuary powers

are with the centre

How many stages of economic growth
does Walt W. Rostow outline in his
book “Stages of Economic Growth :
A Non-Communist Manifesto”

[1960] ?
(A) 5
(B) 4
(C) 6

D) 7

38.

39.

MAY - 15216/II—A

Wetalsh! g faum fieen .

(A) TR faeHed Tieh e TSITal

TaE gfaHeta e

(B) oeiciensd =Ae™iy Afoaeh

fSend S1icrd et

(C) HTST=A F&h Jidd HerRaremar

U 3T

(D) YA IR shgehe  Aed

dice Ty, UL I ue WS
A ghMIES W 2 3 TA-HFE

AAREI'" (1960) AT T fo¥1G shalad

aTfefer foarerrar fordt =@ Hiffder sTed ?

(A) 5

(B) 4

(C) 6

D) 7
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40. Weak states generally share all the

following characteristics, except :

(A) Poverty

(B) A widespread sense of

legitimacy

(C) Deep ethnic divides

(D) Lack of innovation

MAY - 15216/II—A

40. FAHERUU FHFgRad ToA=l el

IO AT STEA. W AN STIEE

M@

(A) <™

(B) =9k STEEMIAE!l  rEH

(C) © diftk 95

(D) fer=goid=n T4l

41. Who wrote the book “Aspects of | 41. ‘3THURY 3% difcreiend SadqHe’ ©
Political Development” ? gk ot fafgar ?
(A) Gabriel Almond (A) T sede
(B) Samuel Huntington (B) ¥=geTa gfered
(C) David Apter (C) Sdig 3N
(D) Lucian Pye (D) gfed =
27 [P.T.O.



42.

43.

Which one of the following
constitutional amendments changed
the method of the election of the US
Senate from indirect to direct to

combat electoral corruption in 1913 ?

(A) 17th Constitutional
Amendment

(B) 13th Constitutional
Amendment

(C) 16th Constitutional
Amendment

(D) 18th Constitutional
Amendment

Who said, “The power to hurt is
nothing new in warfare, but modern
technology enhances the importance
of war and threats of war as
techniques of influence of bargaining

and intimidation” ?
(A) Bernard Brodie
(B) Michael Hoffmann
(C) Thomas Schelling

(D) Ashley Tellis

42.

43.

MAY - 15216/II—A

1913 el Selean FHeed yse=meR

qrd &I0ITETsT AAfiewa fgae=sar

[aWhaN

elelg o idl

faSTshIagd HIvTel

JEATI STell ?

(A) 1741 SeAGEi
(B) 135t sregewi
(C) 165w
(D) 189t weAgEw

“IgmEY T AT TR A AR,
WY STYME TR W& woI q

Uk SrEfavare 9 RUA IS He

e 3R & faum v e’ ?
(A) s St

(B) fHera erme

(C) otAg e

(D) 3TeeA ety




44.

45.

46.

Who categorized ideologies into the
following, namely ideologies of the
Status Quo, of

Imperialism and Ambiguous Ideo

Ideologies

logies ?

(A) Stanley Hoffmann
(B) Hans J. Morganthau
(C) Kenneth Waltz

(D) Karl Marx

Which of the following is not the

correct statement about the

functioning of a political regime ?
(A) The organization of community
(B) The organization of consent
(C) The configuration of interests
(D) The organization of rights

Which three institutions were the
pillars of the Bretton Woods
System ?

(A) IMF, World Bank, GATT
(B) IMF, G-20, G-7
(C) IMF, World Bank, WTO

(D) WTO, GATT, G-7

44.

45.

46.

MAY - 15216/II—A

: feerdiarct
EEECHIGIRSIEIE2CIHREE R Wi R ]

gfgry foaryonell =@+t el ?

o o N .

[AIAVTAld AilTenY]

(A) €T BH
(B) &9 S. HGeR
(C) Ay dicd

(D) Tl AR

qSTee =l ShrAtared Slelieiueh! ahivrd

faum s o ?

(A) TR HEA

(B) A= HE

(C) Tedwsiems T=err

(D) TFhTI HeA

S g9 I & W§ U Fvel
T Sooig il I 7

(A) STAWSET A0, SFTfaes Sk,

o

Lich
(B) STAQSEA AR, S-20, -7
(C) ST Amoifaeh, Smifaes ek,

SIATfaeh  STIR. HEeAl

(D) STfaer =AMR TeEAl, e, Si-7
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47.

48.

Which one of the following is called
a “Mini Thermonuclear Bomb” ?

(A) Neutron Bombs
(B) Fission Bombs
(C) Fusion Bombs
(D) Hydrogen Bombs

Match the pairs and select the
correct answer from the codes given
below :

List I
(Treaty)
PTBT
NPT
ABM Treaty
CTBT

(@)
b)
(c)
d)
List II
(Year)
1972
1996
(3) 1963
(4) 1968
Codes :
(@)
A @
(B) (2)
(ONE))
D) @)

(1)
(2)

(b)
2)
1)
(4)
3)

(@)
(4)
3)
(1
2)

(d)
3)
(4)
2)
(1)

47.

48.
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TTATAdHRT HIoTedT it et
JHGFATS ofFal’’ Tgeel Sd 2

(A) =2 et

(B) e =t

(C) WM el

(D) FEAGST S

Trell fooiean Heha FEIET AR HEA
It et et 0= A sie
S[esdl

R |
()
PTBT
NPT
ABM Treaty
CTBT
RICU |
(ar)

(@)
)
(c)
d)

1972
1996
(3) 1963
(4) 1968
Hehdich :
(a)
A) (D
B) 2)
©) 3
D) 4)

(1)
(2)

b)
2)
1)
4)
3)

(c)
4)
3)
(D
2)

)
(3)
(4)
(2)
(1)
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49.

50.

The decision to elevate India’s
interaction with ASEAN from “Full
Dialogue” to “Summit Partners” was
taken at the ASEAN summit held
in :

(A) Phnompenh in 2002

(B) Hanoi in 2005

(C) Kuala Lumpur in 2007

(D) Singapore in 2009

Which one of the following military
operations was not conducted by

India ?

(A) Operation Rhino

(B) Operation Cactus

(C) Operation Thunderbolt

(D) Operation Polo

49.

50.
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IRAT ST e §a ‘F<ehe’

‘“fereir ggw1a’' T =TTl

faofg s Afgam fyrer ofteRd

Udel ?
(A) FHUT 2002 HEA
(B) &% 2005 HEA

(C) AT 2007 HEd

(D) TR 2009 wEA

WATAUeh! HIvH] TR hRaR YRAH

wHell A ?

(A) AREE |

(B) 3TTRIM hehed

(C) STIA UsTaee

(D) ATTWEE Tl
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ROUGH WORK
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